Afx =10 2 +4x-5=0°]c} 9 &, o] of
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T 5
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e
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ra<b, q:lal<|b|
:2x+3=5 g:x*-2x+1=0
ra> 3, q:a2>9
:x>00]2y>0, g:x+y>0

XY=YZ, q:X=¢2



a2 BA T,y 7t A © xy 7t Bgol® x,y T Ao® St
Aot} & S ste ol
Folxl PAo] B8-S FAste] (7F) ol x = 2m+1,y = (4
)(m, nZ785) ol & 4= Qlrt. o] Wi, xy = 2(mn+m+n)+1
o|B = xy & ZFolth o] A2 7Pl RolB = S0l A
+ Folth.
Qo] Aol A (7h), (W) ofl ¢ As =At= A A2

O xE=y 74, 2n

@ x,y % oSt &S 20

® x,y s ot &, 2n+1
@ x,yR5 Z4,2n+1

® x,yBFAg 2n+1



571 9]

A7HAH

-B)}nB

® A=B

@ BNnA°c=g

DO AnB =g

® AUuB=A

@ AnB=o



= rol7] 9]

sto p

Y 24 p, q, r, sl

1
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o

_(H

X7, s =rol7l
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o

el
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6.

A xol Histe] = 24 p
p — qE &l = ste &=

Da>1 @ ax<1
@ a>-1 ® a<-1



7.

Ua T p7hg o7l A 2o xdeoly S22 ofd A& A =2W?

(Thn2 A x, y, 2= A5

@ p:AUB=A,q:B-A=¢

@ p:n? 212 9 Higo|th, g n 2 12 9] HiSolTt,

® p:xyz#0,g:x, v, z= 250 0] ofyr},

@D p: x4y +22=0,qg:*+y>+22-xy-yz-zx =0

® pilx+y+d=Ixl+Iy+l g:xy+yz+zx>0



